Question 1

In a sodium chloride crystal, how many chloride ions are there around sodium ion?
(a) 3
®) 4
(c) 6
(d) 8

Answer:

Question 2

According to which law the solubility of a gas at equilibrium and constant temperature

varies directly with the pressure of the gas, provided the gas does not undergo any
chemical change during the dissolution?

(a) Raoult’s Law

(b) Nernst distribution Law
(c) Henry’s Law
(d) van’t Hoff Law

Answer:
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A solution containing comporents A and B fiollows Raoult’s Law.
With reference to the statermnent which of the followingt oplions 13 correct?

() A-B snraction force is grester than A-A and B-B

A-B stzraction force is less than A-A and B-B

A-B sttraction foree remains the same as A-A and B-B

Total volume of solution i differest from sum of volumes of both components
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A solution of ures (moleculas mass = 60) contains §-6 g per litre. It w isotonic with 2 5%
solution of 8 pon-volatile and non-rlectrolytic solute. What will be the molecular mass of
the salute?

) M9gmal’
L0 349 g mol!
fe)  #60 gmol’
(@ 3490 g mol
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The standard reduction clectrode potential of Cu™/Cu is <0-34 V and that of CP"ICY Iy
078 V. These two clectrodes are conmested i their standard staie 1o make #n
electrochemical cell. What will be the standand eloctrode potential (E*) of this cell?
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